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* Simulation Input:
- Q=18.591 keV
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- Fitting with data in a range of
[0,18.591 keV] & [17,18.591 keV]
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* Respectively, fitting Q=
+ 18.5911+0.0009 keV
+ 18.5902+0.0027 keV
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However, consider the expected value of
neutrino mass...
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Simulation Input:
Q=18.591 keV

o 5 10 15 20 m,=1eV
keV

Output (from fitting result spectrum):
Q=18.5921+0.0009 keV
m,=57.88551+5.5358 eV
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keV
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Simulation spectrum
(result)

18.588 18.589

Beta spectrum of
m, =1 eV (used
in the simulation)

The gap is too large!!!

Beta spectrum of
m, =0
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